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1. FEHERE (Bitk)
BIEENRRTH2017E12BH52018E2 A ETHE BIHFHBEICEVET.
@D LNGEHEE = 49,830 /t
@ LPGE#Hffitg = 67,530/t

2. [RHE IR BE (FiA)

EE /4 B (F/m)

—HEH RINFERLFAFITR A 2835
IR RIEHATIER A 3402
(1) FHRFHER (Fiik)
LNGEHE®E x 09576 + LPGEHHEE x 00466
= 49.830" x 09576  + 67,530/ X 0.0466
= 50,864.106 [
- 50,860 (10FIRFEDIHHELIEHA)
(2) REHEIEZEENEE (Bitk)
EAESE ) R R AE - iR
= 83,350M - 50,860
= 32,490M
- 32,400 (100MKFEDIHEBEIIVIET)
(3) A E B - — A H R/NFERIEHITR (FA)

-0.081 x FRRMERZEHE - 100 x (+HHEEHRR)
= -0.081 x 32,400M + 100 x (1+008)
= -28.34352[

- -28.35[ (/MERFERBDIHHERD/PSVNAIZEYIVIET)
(4) FRHERAZEE - SREBREEHZRER)

-0.081 x FRPHERESEE - 100M  x 12 x  (1HHEBRE)
= -0.081 X 32,400M +  100M  x 12 X (1+008 )
= -34.012224M
- -34.02 (PEAFEEKRBOIHBERD/PSNAIZYIYIET)

3. AEHESRMELCEFHEAEICONT
FIZRER-/MIREBROEESERAIT 2HHE) D5E

(Fitk)

AR EHEEAHES(A/A)| #EHESEME/M)
A |0MMi520mMET 669.00 113.30
B [20m%#BZ200MET 1,647.00 64.40
C |200m%EBZ5BE 3,441.00 55.43

GtEH) FREMDIEE
{FEEEEARHE (1,647H) +HEEH £ (64.40/m* X 29m*) } X 1.08=3,795 (/MR LI T YIS T)



